


Odd one out?

fyH i)l it G 3
(a) 64-576 "{(b) 17-343 )

(c) 27-196 (d) 32-36
y> 6=

®



Which of the following numbers will
replace the question mark (?) in the
given series?

2 XWE gy PR § W @ @ den @

A g@ar # g g () @ wfoRenfiq
HSI%IQH FHR?
N .

4!' 5! 18, 19, 63,69,?
(a) 256 (b) 250

L1262 (d) 266



Pointing to a pgotograph, a lady
tells pramod, “I am the only

daughter of this lady and her son is
your maternal uncle”. How is

speaker related to Pramod’s father?

U Hieell U TR Pl 3R FART I
gV yHIT 9 dedl @, H 39 Hfgem @
ghalldl 91 § 3R FHPI o7 BRI A1
g " g & WEIE 3 far 9 @ ey
87
(a) Sister (b) Mother

ife (d) Sister-in-law




V] Guye

(a) All follows

L/ﬂr}‘ﬁther I or II follows

(c) Only I follows
(d) None follows

Statements:-

Some cars are buses.
Some buses are trains
No train is a tram.

Conclusion:-
No car 1s tram
Some tram is car

3)fﬂéi=rm=|€f%l
frepy—

1) PIs R ¢H &l &
2) §B TH BR ©



Manas starting from a fixed point
goes 15 km towards North, and then
after turning to his right he goes 15
km. Then he goes 10, 15 and 15 km
after turning to his left each time.
How far is he from his starting
point?

e e fARed fdg 9 9RY e SR
o AR 15 fHf Smar 8, R fR 3
gl 3R {eax 15 &l omar &) R
98 &Y IR 915 3R §$IN 10, 15 3R 15
il gotar 81 98 U URfe fdg &
fat gx 87

(a) 20 km (b) 15 km

\_Is}T0 km u)(ﬁnn



Statements:-

should labour reforms be
immediately introduced in India?
guments:

Yes, this will help increase the
productivity in all the sectors in
general and in the public sector in
particular

) No, many other countries have not
><z implemented this so far.
DY~
T IR H 5 GUR qRa o 6 o=
ElIE
a@:
_ 1) B, 399 9 ®Y 9 99 831 # iR
nly s strong gy w0 & s iR et & 3
(b) Both is strong  Sremar qary F wee Mot
(c) Only II is strong 2) &, BE Iy AW ¥ apft AP W A
(d) Neither 81 fpar 2



Statements:-

Some serious mistakes were found
in the technical section of a
company.

Course of action:-

.An efficient technical team should be
appointed to check the technical
errors.

.A reason explanation notice should be
issued to all the employees involved

in the irregularities.
Y~

TF BTN B THNR AT F Y TR
Teferdl arg TS |
mﬁ$eﬁ'ﬁ:—
L The FRA A W B R T
(a) Neither I nor II follows HIA qPpNe € Frges B o =Ry |
L/(mﬂth I and II follows 11. sfafiaar § wfve aft sH=iRal o

{€) Only 1 follows PRU WGV Afew W A ST
(d) Only II follows TfRT |



The image of clock in the water
shows quarter past 10. What is the

. real time?
MW T ¥ ' B W 10 T R

2 | Irafdd gAY 1 27
(a) 1:45 (b) 10:15

IW o) F SrEi15 (d) 8:45

T5He



Which of the following symbols must
replace the question mark in the
following equation so that D < A and

F 2 C is definitely true?

fr=fefed & 9 &9 @1 udlle f=ferfad

9T § e fug @ wfovenfid &
/ gIfey difs D < A 3R F > ¢ fAf¥aa wu
0(: X T B

A>B>2C?D<E<F
) > ¥ 2
\/(t]= NS



Eight people S, T, U, V, W, X, Y and
Z are sitting around a circular table.
All are facing inside the circle. W
sits third to the left of S. There is
only one person sitting between W
and Y. As many people sit between Y
and S as between S and Z. V sits
three places away from Z, but does
not sit opposite to S. Y and U sit
opposite to each other. T does not
sit near to W. How many people sits
between X and T?

I AR S, T, U, V, W, X, Y 3R Z
TS MATHR AW & TR AN 9 & | Tf



TAD AR D IANARE E| W, S D
TS IR TR WA R WL WaARY
P 419 $dd S Afh 901 8] Y 3R S
P drg Sav & AT 93 8T fam s @ik
Z3 A BV, 29 I WA R 9@
T ofbT S & fawdia 781 do1 2| ¥ 3R
UTd TR P AR S &I T, W D
fide 78 991 81 X 3R T @ &/ fobe
fh 93 &7

M& (b) Two

(c) Six (d) None




1)

3)

4)

8 friends A, B,C, D, E, F, G and H
are sitting around a circle facing
outside the center such a way that
no two people are sitting together
according to same order.

G sits second to the left of H. who
sits third to the left of E.

Only three persons are sitting
between G and B.

B sits immediate right to F who sits
second to left of E.

A sits third to the right of B. G sits
second to the right of C.

Who is sitting second to the right of
H?



f% A, B,C, D, E, F, G 3R H T& T
;aﬁ@?ﬁﬁmaﬁaﬂ?ﬂaw
sﬂmqﬁﬁﬁﬁﬂﬁégﬁmﬁﬁw
8 P9 ¥ UPH I 78l 93 B |
1)G,H$WQWW;;:%'
ST E & 910 ¥ dRR W )
2) G 3R B & d/ Pad v b 43
g |
3)B,F$€T$EN:3F%GTE$W
q WM T} 99T 2|

(E) 4)T3$ﬁﬁWWW§a%I
G,C P T U T WM W 0T %?
H I Y TR WIE R DI 37 8

B (b) E
(c) D (d) G




v\ Q)

_NI-S

=0 A2 1o

Seven person’s M, N, O, P, Q, R and
S live on different floors of a 7-
storey building. The lowermost floor
is 1, floor above it as 2 and so on. N
lives two floor above R’s floor. M
does not live on prime numbered

floor. Three persons live b/w R and
P’s floor. O lives just above S’s floor.

P lives on prime numbered floor. Q

T TE——

lives above M’s floor on which floor
P lives?

O gaaffF M, N,0,P,Q RIS T 7
S i saRT @ A= SR ® =

g 999 feel dfel 1 & s9D S Pl
ATl 2 8, 3R 3T VW | N, R @



Ao 9 & Al SWR EdT 8] M
JITSY G&AT qrell |ioTel UR &l &aT 2 |
R 3R P @ Aol @ 99 O At &|d
g1 0, S & AT P b HU &l 2|
P MY G¥AT dlell HfoTel R &dT B
Q, M 3 AR & HUR V&I 2 |

P &9 AR W vEar 87

(a) 2 (b)
(c) 5 7




Six friends H, I, J, K, L and M went
on holiday on two different dates. i.e
274 and S5t of three different month.
i.e October, November, December of
the same year. Three people went on
holiday b/w M and K. H went on
holiday immediately after L. M went
__:‘-after K. Two people went on holiday
= b/w J and M. I does not go in
~  December.

h How many persons went on holiday
b/w H and I?

B8 M9 H, I, J, K, L IR M «©
JATIT aN@l WX Bfedl W Y|
I RT3 FeM @l 2 AR 5 ARG
W, I Sl 9l JHacay, -Taax, feHaw



g #| M 3R K & 919 § A9 T g8t
W Y| H, L & qRd 91 8l W 74T
M, KPS T JIRMD &89 Q
AT B8l W Y| ¥ R F 781 S|
H 3R 1% 99 fbam =afh g ) T19?

AT (b) 2

(c) 4 (d) 1



Statement:

1) Some medicines are tablets.
2) Some medicines are not effective.

Conclusions:

1) Some tablets are effective
2) No effective is a tablet

B
1) BB TAT MR B |
2) BB A1l IEIGR 8l Bl 3 |
(a) Only 1 follows fsp:
(b) Both follows 1) 7B Sl sl @

(c) Only 2 follows
/[,d] Either 1 or 2 follows ) g1 HRvR M =& &



L4BAWUS=8CNFSxT@KO
1QVDBG6APEJRH+MZ

How many such consonants are
there in the above arrangement,
each of which is immediately
preceded by symbol and
immediately followed by a number?

W’WM- Z4BAWUS=8CNF5xT@KO

1QVDB6APEJRH+MZ

SIRIP g § W fhaw &@wq &,
e @ 7% & de tgd udie 3R
3% 9IS U H&AT &7
(a) 3 (b) 2

,()ﬂl (d) 5



There are six members in the family.
S is the mother of O, wwunother
of Q. N is mother of M)\S is married.
Q’s father is son-in-law of M. The
gender of P and Q is same. How is N

related to S.
URIR ¥ B I &1 S, 0 AT B
Q I HI 8| N, M I H 2|
Q% filaT M & TWIE | P 3R Q &

form 9= 81 N, S ¥ 59 yor g
87

(a) Mother

(b) Father

\__[;J—M{her:;n-law

(d) Sister




(a) 12 km
(c) 20 km

\_ TS km

(d) 9 km

A persons starts from a point A and
travels 3 km eastwards to B and
then turns left and travels thrice
that distance to reach C. He again
turns left and travels five times the
distance he covered b/w A and B and
reaches his destination D. The
shortest distance b/w the starting
point and the destination is?

e JAfh fdg AW 9T g oXar © iR
B 0% 3 fafl qd 9t 3R I &xar 8
3R fiR 91¢ HedT © 3R C TP Uge &
forg S9 & 9 O T ot 8 I
HYaT 81 98 R | 91 &R gear @ &R
AR BD 99 99 P T3 4 | UG
AT S A qF HRaT 7 AR A
g ©F D W Ugadl ¢ | RS fdg
IR Tdd & 99 HIH LAdH A T 87



A man facing west. He turns 45° in
the clockmise direction and then
another 180° in the same direction
and then 270° in the anti-clockwise
direction. Which direction is he
facing now?

U& AGA! &1 J9 URReH oY R 8| 98
<o faem # 45° gwar @ &R iR
o4l faem # 180° &R v amrad faem 4
270° Sl 3 | 34 SHST Y& &y faum

@l 3R 27 @

(a) North-west

_AbTSouth-west

(c) South
(d) West




Hio_-— 6 =9Qno

=
j:_o__(____ Ea by

5

&~

Which of the following numbers will
replace the question mark (?) in the
given series?

frfolReg & & @9 & d&r § T8

sgar 4y R (?) @ wfowenfia

H?

450 , 9000, 1795, 355, 68, ?
5 (b) 12.6

(0)98 (d) 10.4




Select the correct combination of
mathematical signs that can
sequentially replace the * sign and
balance the equation.
252*%14*8*100*16*60

TR wedt &1 8 WA T o
s w9 ¥ * e o wfoenfia &= 9@
3R FHIHT BT Hferd I 6D |

252*14*8*100*16*60



Direction : select the option that is
related to the fourth number in the
same way as the second number is
related to the first number and the

é)(l/' 2. s tl sixth number is related to the fifth
- number:
fder 99 fades &1 @99 X o el
S¥6 W& ¥ oW UPR Wt B o g
SK3o wE TEel W ¥ Wi & ok wed
& Uigd! & | qeaftd ©:
3x¢1 :150::06:7::8:076
13)(5’2; IUAarikz (b) 225

(c)255 (d) 222



Statement:
A>2B>C>D;E<C<F<G<H
Conclusion:

'A A>E

2) G<A
\W (b) Both

(c) only 2 (d) Neither



A # B - A is the sister of B.

A @B — Ais the son of B.

A & B — A is the father of B.
A % B — A is the mother of B.

IfW@0%T&Y@M % K then how
is W related to K?
A#BHT I T ‘A, BB 981 &
A@B®T 3 8 ‘A, BHI 9T &

A & B &7 31ef § ‘A, B & fiar &

A% BT I & ‘A, B! 91T &

e W@ Q% T&Y@M % Kdl W,
K 39 59 yoR et 87 -

(a) Brother

(b) Father
(c) Father’ Brother
(d) Mother’s Brother



Statement:
The local college Principal has
ordered that all the students must
strictly adhere to the dress code
stipulated by the college authority
in the admission brochure.
Course of action:
Those students who are found to
violate the dress code should be
rusticated from the college.
\/.)’ﬁmse students who are found to
violate the dress code for the first
time should be reprimanded and be
warned against further violation.

HUT: W Dietwl @ Bifger 3 smew
fear 8 & o) o=l & vawr RAaPer 4
Pl MR gRT fFuiRa 39 @re &1
& | UTAs HRAT BT |



BRAg D QNI

1) W B $H Ble BT Scaiad &Xd &
S= P 9 g &) fear s

M8y |

2) Wil B Ugell IR 9 BIS & Seaied
HYd gU U WA §, I8 BCHR oy
S =Ry SR M Sowied @ Raeme
YIS & ST TR |

(a) Only 1 follow
(b) Both follow

__{c)Only 2 follow

(d) Neither




Which of the following numbers will
replace the question mark (?) in the
given series?

2\ Preafofes # & @ & won & ™

\‘,-—' /’Wﬁﬁ (?) @ wforenfid
12 - (2 (D) a’_flﬁ? T
Ly

(a) 78 (b) 89 @
(c) 144 \}yles



Statement:

1) The prices of clothes and vegetables
in the international market have
remained unchanged for the past
few days.

2) The prices of medicines have gone
up substantially in the last few days.

HY.
(a)Statement 1 is cause and 1) fioat CX) el ¥ TR R A
Statement 2 is its effect F0e 3R afeal & A9 aqRafsT &=
(b)Statement 2 is cause and _E_
Statement 1 is its effect Eﬁ |

(c)Both are effects of common cause 2) foe o9 fef o 'q'ﬂTSTI‘f 3 PEG
L/(d[Bnth are effect of independent FTE 9 Tlé ¥

cause



Statement

1) All the schools in the area had to be
kept closed for most part of the
week.

2) Many parents have withdrawn their
children from the local schools.

Y-

1) &3 & G Whell B <8 S IAHIer
AT ¥ 9§ @ US|

2) H3 AMHEHI A AU T BN RIFI
o 9 Fera forar 21

(a) Statement 1 cause, Statement 2
is effect
(b)Statement 2 cause, Statement 1
is effect
(c) Both are effect of common cause
oth are effect of independent
cause






